
𝑥 − 2 ≤ 0
𝑥ଶ − 4 ≤ 0

The answer is only the Domain. The number line and graph is only to help. There is no y involved.

   𝑥 − 2 ≤ 0
        +2    + 2

           𝑥 ≤ 2

𝑥 − 2 ≤ 0
0 − 2 ≤ 0
    −2 ≤ 0

               𝑥ଶ − 4 ≤ 0
(𝑥 + 2)(𝑥 − 2) ≤ 0

−2 ≤ 𝑥 ≤ 2

𝑥 + 2 = 0
        𝑥 = −2

𝑥 − 2 = 0
        𝑥 = 2

−𝑥ଶ + 5𝑥 − 4 < 0

     −𝑥ଶ + 5𝑥 − 4 < 0
 −(𝑥ଶ − 5𝑥 + 4) < 0

 −
(𝑥ଶ − 5𝑥 + 4)

−1
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯>

0

−1
⎯⎯⎯

        𝑥ଶ − 5𝑥 + 4 > 0
   (𝑥 − 4)(𝑥 − 1) > 0

𝑥 − 4 = 0
        𝑥 = 4

𝑥 − 1 = 0
        𝑥 = 1

𝑦 = 𝑥 − 2

𝑥 = −3 𝑥 = 3

         𝑥ଶ−4 ≤ 0
(−3)ଶ − 4 ≤ 0
                 5 ≤ 0

     𝑥ଶ−4 ≤ 0
(0)ଶ − 4 ≤ 0
              5 ≤ 0

     𝑥ଶ−4 ≤ 0
(3)ଶ − 4 ≤ 0
              5 ≤ 0

    𝑦 𝑣𝑎𝑙𝑢𝑒𝑠 ≤ 0
𝑇ℎ𝑒 𝑇ℎ𝑖𝑛𝑔 ≤ 0

Sign Analysis

Graphing

2

𝑥 − 2 ≤ 0
4 − 2 ≤ 0
        2 ≤ 0

Pick a value

𝑥 ≥ 2

What are the 𝑥 values when 
𝑦 ≤ 0. Circle them!

𝑥 = 4𝑥 = 0

𝑥 ≤ 2

Solve

÷ −1∗

Factor

𝑥 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡ᇱ𝑠

Graphing

What are the 𝑥 values when 
𝑦 > 0. Circle them!

𝑦 = (𝑥 − 4)(𝑥 − 1)

   𝑦 𝑣𝑎𝑙𝑢𝑒𝑠 > 0
𝑇ℎ𝑒 𝑇ℎ𝑖𝑛𝑔 > 0

Sign Analysis

1             4

Mark 𝑥 𝑖𝑛𝑡(ᇱ𝑠)

Correct: 
Shade that 
section

Incorrect: 
Shade Not 
that section

𝑥 ≤ 2

Solve

Number Line

Number Line

Pick a value

𝑥 < 1 1 < 𝑥 < 4 𝑥 > 4

𝑥 = 0 𝑥 = 2 𝑥 = 5

(𝑥 − 4)(𝑥 − 1) > 0
(0 − 4)(0 − 1) > 0
         (−4)(−1) > 0
                          4 > 0

(−2)(1) > 0
           −2 > 0

(1)(4) > 0
           4 > 0

𝑥 < 1 𝑥 > 4

Substitute

Substitute

Graphing
   𝑦 𝑣𝑎𝑙𝑢𝑒𝑠 ≤ 0
𝑇ℎ𝑒 𝑇ℎ𝑖𝑛𝑔 ≤ 0

𝑥 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡ᇱ𝑠

𝑦 = 𝑥ଶ − 4

What are the 𝑥 values when 
𝑦 ≥ 0. Circle them!

Number Line

−2                2

Sign Analysis

Pick a value

𝑥 ≤ −2 −2 ≤ 𝑥 ≤ 2 𝑥 ≥ 2

𝑥 = 0

Shade the 
𝑥 − 𝑎𝑥𝑖𝑠
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